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1| sin(a + B) = sina cos B + cos asin 3
2| sin(a — B) =sinacosB — cosasin 3

EI cos(a + ) = cosacos B — sin asin 3
zl cos(ax — B) = cos a cos B + sin asin 3
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cos(ax — B) = cosacos B + sin asin
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cos{a— } = cosacos + sin « sin
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cos(—0) = , sin(—0) = ThdH5H
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cos(a + B) = cosacos 3 — sin asin 3
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NV Cos(a — ) = cosacos 3 + sinasin 3
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on{ (3 - ) -5}

:cos(g a) cosﬂ—l—sin(Q a) sin 3
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cos(g (a-l-ﬂ)) —

cos(g a) = , sim(;T a):
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sin(a + 8) = sina cos 8 + cos asin 3
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A3 4] cos(a — B) = cosa cos B + sin asin 3
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o{ (3 ) -5}

:cos(g | a) cosﬁ—l—sin(Q | a) sin 3
E%%. T,

cos<g | (a—ﬁ)) —

COS<§ | a) = , Sin(g | a)z
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sin(ac — B) = sina cos 8 — cos asin 3
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sin(a + 3) = sina cos B + cos asin 3
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sin{a+  } = sinacos + cos a sin
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cos(—pf3) = , sin(—0) = THHdH56

sin(ac — B) = sinaa cos 3 — cos asin (3






